
 
 
 
 
 
 
 
 
 
 
 
 

Material Data Sheet 

These parts have been manufactured in accordance with all 

required standards below 

 

 

 

 
Part ID Description/Size 

1080199 M3 x 7.0 x 0.5mm 

1080200 M4 x 9.0 x 0.8mm 

1080201 M5 x 10.0 x 1.0mm 

1080202 M6 x 12.5 x 1.2mm 

1080203 M8 x 17.0 x 1.2mm 

1080204 M10 x 21.0 x 1.2mm 

1080205 M12 x 24.0 x 1.6mm 

1081206 M14 x 28 x 1.6mm 

1080206 M16 x 30.0 x 1.5mm 

1080207 M20 x 37.0 x 2.0mm 

1080208 M24 x 44.0 x 2.0mm 

 

 

 

 

Part Group FC140 – Stainless Steel Washer 

Standard AS1237:1973 

Material: Stainless Steel 304 

Heat Treatment: N/A 

Plating/Finish: N/A 

 

32-34 Laser Drive, Rowville, Victoria 3178 

P: 03 9763 0833         

mailto:sales@wasca.com.au
http://www.wasca.com.au/


 
 
 
 
 
 
 
 
 
 
 
 

Material Data Sheet 

These parts have been manufactured in accordance with all 

required standards below 

 

 

 

 
Part ID Description/Size 

1080209 M3 x 7.0 x 0.5mm 

1080210 M4 x 9.0 x 0.8mm 

1080211 M5 x 10.0 x 1.0mm 

1080212 M6 x 12.5 x 1.2mm 

1080213 M8 x 17.0 x 1.2mm 

1080214 M10 x 21.0 x 1.2mm 

1080215 M12 x 24.0 x 1.6mm 

1081209 M14 x 28 x 1.6mm 

1080216 M16 x 30.0 x 1.5mm 

1080217 M20 x 37.0 x 2.0mm 

1080218 M24 x 44.0 x 2.0mm 

 

 

 

 

Part Group FC141 – Stainless Steel Flat Washer 

Standard AS1237:1973 

Material: Stainless Steel 316 

Heat Treatment: N/A 

Plating/Finish: N/A 

 

32-34 Laser Drive, Rowville, Victoria 3178 

P: 03 9763 0833         

mailto:sales@wasca.com.au
http://www.wasca.com.au/

